Enzyme Practice 
1. GIVEN:  Lactase is an enzyme that breaks lactose down into glucose and galactose. 
a. What is the name of the enzyme? __________________________

b. What is the name of the substrate(s)? _______________________

c. What is the name of the product(s)? ________________________

d. Which of the substances mentioned will be available to function as long as there is substrate present, and temperature and pH are in the correct range? ____________________

e. Is this a “breaking bond” enzyme or a “building bond” enzyme? ___________________
f. What kind (of the 4 classess…) of organic compound is glucose? (and galactose and lactose for that matter!)  _______________________________________

g. What kind (of the 4 classess…) of organic compound is lactase? ______________________
h. Draw a 3-step lock and key model of activity for this enzymatic reaction and label the enzyme, substrate and active site in all three steps.

i. How would having less available enzyme affect the reaction?

A. stop the reaction
B. slow the reaction
C. speed up the reaction

j. How would having no substrate available affect the reaction?

A. stop the reaction
B. slow the reaction
C. speed up the reaction

k. How would a minor increase in temperature (not an increase that is “too high”) affect the reaction?

A. stop the reaction
B. slow the reaction
C. speed up the reaction

l. How would having temperatures that are “too high” (would cause denaturing…) affect the reaction?

A. stop the reaction
B. slow the reaction
C. speed up the reaction

m. How would decreasing temperatures affect the reaction?

A. stop the reaction
B. slow the reaction
C. speed up the reaction

n. How would the absence of enzyme affect the reaction?

A. stop the reaction
B. slow the reaction
C. speed up the reaction

